Student’s name Student’s number Teacher’s name

— Question 1 (12 marks) Start a new sheet of writing paper. Marks

. X
3sin—
(@ Evaluate, hné 2 showing all working. 2
- X x
v PRESBYTERIAN
LADIES® COLLEGE
i ; ® Find the coordinates of the point, P, that divides the interval
A S YD N EY AB internally in the ratio of 4:5 if 4(-2,3) and B(1,0). 2
- 1888
© Find k if x** =", where x>0. 2
~ TRIAL @ jcosz 4x dx 3
HIGHER SCHOOL CERTIFICATE
EXAMINATION
© Use the substitution u =1+ x° to evaluate

Mathematics Extension 1 frfiere | N

/-

General Instructions Total Marks — 84 B

» Reading time — 5 minutes e Attempt questions 1-7
* Working time — 2 hours e All guestions are of equal value s .
e Write using blue or black pen End of Question 1
s Board-approved calcolators may

be used

e A table of standard integrals is
provided at the back of this paper
¢ All necessary working should be

shown in every question
1 2 3 4. 5 6 7 Total Total
/84 %
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. . Mark .
Question 2 (12 marks) Start a new sheet of writing paper. o Question 3 (12 marks) Start a new sheet of writing paper.
@ Solve 2 > 3 x=0, x#1 3 @ i Show that cos3x =4cos’ x—3cosx
x-1 x’ ’
i Henece, or othérwise, find J.c,osxsinZ x dx
®) Given two roots of 2x* ~kx+8 =0 are equal, find k. 3
® An oven has been heated to a constant temperature of
180°C. A cake mixture, with a temperature of 20° C is
© Find the constant term in (x° _1)8 3 placed in the oven and after 15 minutes its temperature is
x measured at 100° C. The heating rate is proportional to the
difference between the cake temperature and the oven
temperature.
@ A particle is moving in a straight line with its acceleration as
a function of x given by ¥ =—8x". It is initially at the origin
and is travelling with a velocity of 4m/s. i Show that the equation for the cake temperature is given by
T =180-160e"%%
. fi.  What will be the temperature of the cake after 30 minutes?
Cob Find the maximum speed of the particle. .‘ 1
iii.  How long will it take for the cake to reach 150°C?
fi.  Showthat ¥ =2/4—x* 2
= . iv.  What would be the limiting temperature which could be
achieved by the cake? :
\\; \
©
End of Question 2
P and Q are the centres of the circles in the diagram above.
PAX and QAY are straight lines. If ZPAY =x, prove that
P, Q, X and Y are concyclic.
End of Question 3
Mathematics Extension 1 Trial HSC Examination page 3
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. ops Marks . .
Questlon 4 (12 marks) Sfart anew sheet of writing paper. Questlon 5 (12 marks) Start a new sheet of writing paper. Marks

@ The acute angle between the lines L; and L is % radians. ® L gx)=¢",find g7 (x), the equation of the inverse of 2
The equation of L; is y =3x—1. The equation of L, is 3 8().
y =mx+b. Find the equation of the line L, if it passes . - o 1
fhrough (-1,-4). i.  State the domain of g~ (x).

®) The equation ¢* —x—2 =0 has aroot close tox =1.2. 2 i Ona Tmber plan.e, SlFCt.Ch the graphs of y = g(x) and . 3
Use Newton’s method once to find a beiter approximation to y=g™'(¥), showing intercepts and at least one other point
this root, correct to 2 decimal places. ) on each curve.

© { 4> Use mathematical induction to prove that for all positive 3 iv.  Using the graphs in iii, or otherwise, discuss the symmetry 1
integers #:

of the functions y = g(x)and y =g (x).

AP +2° +3 . 40ty =r(n+1).

) Air is pumped into a spherical balloon at a constant rate 3
. of 12 em’/s. Find the rate of increase in its surface area when
4.  Hence, or otherwise, find the value of : 2 its radius is 8 cm.
L P43t +n’
lim(—————) . . T
i n ©) Find the general solution of cos(2x—z) =1 2
@ Show that the chord of contact on the pérabola x* \)= 4ay isa 2 5

focal chord if the external point lies on the directrix. The

equation of the chord of contact is xx, =4a(y+y,). Do

NOT prove this result. .

P End of Question 5
End of Question 4
Mathematics Extension 1 Trial HSC Examination page 5
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QHESﬁOD 6 (12 marks)

()

®)

Find the greatest coefficient in (5+2x).

An object is projected from the top of a vertical cliff 18 m
above the horizontal ground at an angle & where tanf = % ,

with an initial speed of 25 m/s.

Show that the equations of motion of the object are:

x=20¢t
y=——;-g12+15t+18

Neglecting air resistance, and taking g=9.8 m/s®

What is the greatest height reached by the particle (correct to
2 decimal places)?

Find the distance from the base of the cliff to where the
object hits the ground (correct to 2 decimal places).

End of Question 6

Mathematics Extension 1 Trial HSC Examination

Start a new sheet of writing paper.

Marks

page 7

QlleStiOIl 7 (12 marks)

<A@

®)

iv.

Start a new sheet of wrifing paper.

A particle moves in a straight line and its position at time #
is given by:
x=1+3cos2t—sin2z

Show that /3 cos 2¢ —sin 27 = 2 cos(2f +%) .

Show that the particle with equation x =1+ V3 cos 2t —sin2¢
is undergoing simple harmonic motion.

Describe the motion of the particle including the centre,
amplitude and period of motion.

Find the first time the particle is at the origin
(i.e. when x=0).

Given the fact that

jsinmxsinnx dx=0 and Isinzmx dx:—-% \
0 0
if m and n are any unequal positive integers,
find the volume obtained when the area between the curve
. 1. 1.
y =sinx+~—sin3x+-—sin5x
3 5

and the x-axis from x=0 to x =7 , is rotated about the x-axis.

End of Examination
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Solutions for exams and assessment tasks - - . Verl
Academic Year Mrio Calendar Year Qoo & , -
Course Eul. ), .] Name of tagk/exam - | Tr'a]

Quashion | e w=lan® wlon x=~1 ws o
o, |~ s T - 31.'». stL% Sl& - 51’1 wlon ¥ =1 we 2.
X—>o b b Xy 3 d.‘& .

e’\,g_ = & i
- AT, * e
) p £5Y X r ]
Xy > =1
= 2 ( -[., fx =J“' fg" {1437)dx
> ) ht
: %
= é. = 1 jLL
2 5 JK
© .
N x: ‘1: ;
. - Xz 4, =1 22
bAG2Y) gl 9 S 1
°©
L= tny, + = 2
gy, F R[N
M e [
= 2 glz
X = < I +5(-2 ) Is [2 ]
_(LL) » Y= 4G)es(ay . : :
~—_ 7. ey
9 5

K“i = I5
a ' 33

P(-2,5)

Queshon 2 -

e 2 > 3
X -, SL\\’

H

2e3 alax
X XA

V

c.

k|

2l+3 LAy

X Te
"2k +3 =9
2 = ¢
k=3

x* (1%3 2 > 3(1—»')23(
3G-Px -~ 2 ()¢ €0
1(1-1)[3(1—~)~2,J £o.

’ X G- (x -3) s o

.

d 2
/f @S 4y 4, Cos gi=2msz41~[

= frL .
f(z wsgi"'i}é—x
= -é-s.‘;h +2L'M.,.(

~ 1. {
—IL Slsgy_ ""5‘)(4-(,

i(COS Y+ l) = cosz41

/[ DN

X<o, <X

Page | of {

. Look. ad ‘ rctervalg

dz = _-E-
+2=<F >

x <o

I<xg3

PLC Sydney Maths Department
" Sohutions for exams and assessment tasks - . .
Academic Year- vr 12 Calendar Year 2008 ;-
Course Ex) 1. | Name of task/exam - | Tri'ad
- 2x® - kx+%=0 e
R 2 5 2 o x# | B led 4w rooks be U and B
. —1 ES ‘
Soen of ropds O ot a. hae
Critieal points @ X =0, %=I R
ac
2 = =2
= = vad .
X -1 x 2etp s O
- = — 24
2y = 31—3 Soe of roo+ts 4"'\49 ot o 41‘&
Tx -3 a(."-boL‘&-teLp: k.
Y= 3 2

{1 25 -~
X o o ‘3‘; 4 i &
<4 2]-2 - -k
Te ' ¢ . .‘j> =
_f;sL. X =z 7 ,4(_(_4__‘) :__lé_
2
o (o34 <ok
2 " 2
322k
-+ 3¢ =z
<=k
Test x= 2 . G
. Product of Moots
222 P
2 2 2 Heoe 22(-2.) ig
g
—2% =~y
Test 1 x=-4 ‘ 43, o
2 2 =3
SR =iz
.'lf_:éa(z
Tast X =~} c( "i)"
. . = 2_
2 s 2
-2 i

:QC')%’B)‘ or 12

2

<

> TQ_,“ =?Ct<xs)k(_i‘;)g-k
= ?CL )Lz‘h (__')?—k xk—s

= - Y-l ~
?CL <—-|> )Lﬂc -§
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.

1L, 0=~ 8,3

X= o,
Seo ‘-“‘-'-. Pordicdle. & o .,,',.,'S:,\
W has speed

Mo Speed = 4 onls,

g - 4

d 2
ax Lz Vz)=‘?x
L o,2 H
ZV :-gfx Jl.
2 .
Luteorata.
P
L,
Ivieoo,.
hi‘_,., x=0 vz 4
£ = p+c
.'._L
?—V ?"27."-(-?
2
Vie~ay"iqe
2 .
ve = 4(4 x)
ve 3J4(4-1")
:-l<1/4_ff>
Siase V& wlen y=90

Verl
" Qolutions for exams and assessment tasks - - er
Academic Year 12 CalendarYeaI 200% ;-
Course - Exl.l. | Name of task/exam - | Triads
'g’e consdant deram t 4k ~-%=0 QJ__.-——-———Q““* 3
“ J os 3x= 4 sx 2 ws
Ses gl a L ‘Skow cos 1-. €03 s
. . Liug = Cvs (21«-:.)
S Gonstad fre & é . .
neta e * gcz (’_ ') T (08 2% W% Sin 24 S X
- 2 ‘.
=283 - (2“’5 *"‘)CPS'*-— 2SaXmLL Sax
- 3 ;
n T 28 K~ Loy X - 2s|.zat g %
< - 31 . ( .
T 2ces = cogn~2{1-tes™ o5 %
ULQ-V\ ":.:o s X=p V=4Ml$
) v = 2esn 3
L max Speed s wlia % s, TS X T 2eogn+t 2e08 X

= 46=s5x— 2wy X

R HS

f&SLSI’Azl dx

Medlod 13

fcosy.(l-co.szx)elr.
Sl etn
S [zg (cos 3:.+3c°.sx)jDoLl
_f‘(c‘os'* R F cos 30 - 3 oon) dy
- f(i“’“‘i‘ cos 3n) du
= L

T I D +
T Si~ 2 S 3x c

Medid 2 °

[y [£6]" axn

Sy
EeI™, .
n4t
‘ 2
f tog x (sim x) dx
= 13y
- 3___3% +c  Page 3 ofp

. PLC Sydney Maths Department
Solutions for exams and assessment tasks - . Verl
Academic Year Yr 12 CalendarYear 200¢% ;-
Course Ext |, | Name of task/exam - | “Trial
Medlod 3 Lot w= Sin X ) *80=—160elgk
dw  cosx > = Sk
dv T
e = Cosx oy Lt L =15k
S eosxsiieds = fulau bmfe tn g
3 - -
TR +c -k = —D-046209¢....
P ‘ LE
’ — D. 041
= Sq;g X jc T z1go~- lboe - o
woowla 20 T= ?

Node . . -
:‘" Sin — 7!5 Sim 31 T = 190 — '602—9.046 3o
skshe-t s.;(zux):] ‘T = 140 g
= cdemp will be MoO°C
b 2% SIm X ey [ S.«Zuou-'—coszus.:;} ]

Al Taise 4s 7
S N 2 * ,
T g SNk Iy 2SSt cas x *0—29,.1)5;?9 150 = Ifo ~lboe —o.04p..t
= ! . . pu —0. 044, E
= 2 st =L [osan (1522 4 < 30 = ~ltoe
Yy S~ >y [anl (I-—Sn. 1)+ Simy =2 hfq
- 2 —v.ou6.. 7
. , ' > e
=L < . 3 - . - :
§ Sax~ ,—’;s,ﬂ 'i"ASml 2150263 1o
. 2 12. e
. . 2 Ln 13t = ~0.0%b...t
'.E S~ X : -7
"b:: Séw\lll\s ’3'S;YE<_,
boj . )
2 i—g - k_(”— P) “} T =180 — léoe-—b.c‘l‘t
os 't = oo ‘
T-= P.*_.AE_L{: P =% . ,
w\n,,\ t:o T—Zo ‘b:o T=2° . hm.‘h'ﬁ Me s I?O c .
=18 Toien
=1%o + Ae’
A= —ito .
T - ig0- Woet

wen £218 Tz s
loo = 18n ~1boe 'Sk
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" Solutions for exams and assessment tagks - L. ] Verl
Academic Year Yei2 Calendar Year 2008 Lo
Course Bxl. | | Name of task/exam - | Tev'ad

\n

‘_r:,é < PA‘I; X

.'H‘l—h‘ < QAXER (Vu-l'lm.”y OPPOS--'\Q_
a.;sglu) ar
)

Jdor~ Py and Q.X

PA = Py (Qquq_,[ ,—ad,‘,'>

“RA = 8% (equ md:‘f)

(Q'\ell/) OPPOSJ—L
egual sidos an
Qquc\,’) '

and (Q AX =‘<QX A=Y ( Sl"nl.larlﬂ)

“LPYA = <PAY =

SLa APy I f\AQX (eqm‘cugulm),

R W s.'fvu'lar +r|'¢xn3|.u_,’ CO('I'L»SPDNJ:‘}

S'des are  in Ho  Sowt Fochh
e, PA MA
QA XA b

S PAxXA T YAX@A

imtervals

|'-\~Iu§«-l.'-3 s equel Heui'
W erdpoids  of W inhrvals are corel

Sinte . product of fr;-\‘n,ru,f-lg on

elie

Q A =Q% (0_{1\1&,‘ rac‘:‘f)

O PYA =<PAY =y (q.-\glu oppesrie
e_e‘qu sdis  are

vaf)
and B -
< QAX-? <QXA (Otn_;(b)‘oppos:‘k_
equal $icles are

©<Pyps<axg A

< PA XY are Loncalcb'c as
Mah” Sub-h"dld on “He Sﬁln{

"Side of  chocd, PR are Zﬁu«J,

OR Tf <PAv=x

Hon <QAx=x (V"’f-'“t”v ®Pposly

Ms(ug T are
g

JO:‘N PV Aand Q)(

Qvesdion 4

@ Y=3%t w3

H:Ml*b my = m

E "_GAD- =

143mz3-m«  —1-3m=3-m

4 =2 —f =2
m:JZ" M - D

PA=PY  (equal redi.)
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" Solutions for exams and assessment tagks - - - Vert
Academic Year Mrilz Calendar Year 2008 ;-
Course Exi. |, | Name of task/exam - | Triad
Jeqn of e Stp.3t prow droe for oz bt
Y+ 4 = é(xu) A 4=-2(x+1) ie f’ro..gg . . 3) . -
4 (132%... kalen) =(L'_+l) (uz)

2y+ ¥ =X+ Yt 4= -2y-2

1—25—7 =0
oR or

Y=z x-33

'21+11+6 =0

s-2x-6

b, le+ P(x)se*-x-2
P(1.2)=0-120n69...

P'(-x) e’
4 '(a.z)=2-3.2oll69....
P
X’_ = 3(.‘ C,X.)
P (x,)
_ 0 .12001848...
- l'2' —_—
2.-320ué4...
= l. 14%....
=1-15

o befhr agpcoxivato~ 1S 11§

LHS <4 (1% 5% P) e 4 (ke)
=l (k) + k() Fom assrrt.'
:Qz_-l—:)l[ L+ 4 (k-n)]

= ( k-n\" [ ks 4!’“**]

= (k-u)z(tu)l

= RKHS

. droe

LBy M priccl of mathamalial
o e £ ol posihie |-

:f\(iw(‘(’ufow
|'.\-haus ~
5
3y
W e ( 1202535 +n )
X -7 n* ‘

LA,

h"l(n +1t }L
4

ond  P(x) s coai--'m{ov& i P IO
- n-q'
< b :
2
Prove . 2 3 7_( )2 = L'~ ~ (f\-&l)
413427 3+ *"):“ nt Xres 4 4
S‘h—f b prove k‘x -g( n=t - [1YSN n’- (nl+2r;+ ‘>
4 () Rus < 1 1oy xreo e
= = 4 y 2
4 e clim g and R
= X 4t
o ve for s - )
= b
Step 2 assvne Hue for Ak %

i 4 (130 B 1) = (k0)
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" Solutions for exams and assessment tasks - .. Verl
Academic Year Mr 12 Calendar Year 2008 /
Course Exk. |, | Name of task/exam - | Trr'a |
d/_:..l:LI: 4&(‘[*"1-) L L-A
T . M4 a
TP exduraal Pp.'-J- . lien o~ W \\"o) +

divectrix , cordinats would ke (.1',-09
X = 4a (g -a)
XX, = 4a( 3—%) ’

T o Hfocal clord (o, a) sehifil

R.HS:4Q(R—G.)
. - 0

L‘ns;— o (x,)
o

LLMG s RHS

wom graphs are  Symetr'cal

abovt o bee Yz .

Lxx, T 4a(y-a) fs afoeal clond.}:

LTl exhraal Pm'p(- lYen on Avhl-l'r;x, b/ ys"L“" = %Trrs
He chard” of  andact fs a ool clord. Slr = 4w’
Quesdion S ¢ 1 g em Is
. Xt dt
a L q(x):=e e T
s .ot SASPW e
L 3 =z e
ds _ ;
fwre:  x=e y! ' 57 gur !
A X s - 5 - _
3+ __f. = ? wlen 2§
CRUSEY ?
L ds _ ds dv dr
g7 (1) = =1 +la X B N v
ij. J-oma.l'n\ © = =
b g7 (s rarge o gl 78w 2x L
... f‘a_nﬁg_ 0# 3("1) fg 'j>0 -': . ame
. .24
" domain of j—'él) ;X o l o
wleh = €
éit = 3 em /s
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Verl

Solutions for exatns and assessment tagks . .
Academic Year Vel Calendar Year 2008 N
. Course Ext. L | Name of task/exam - | Triat l
=
— 34V ds ?
—_— l 2 —_— e . WLOA = Z e o T _
dt dt S s (21 - z) =1
V = 417{"3 2x - =2Tn
EY + ’
2y = 2Tn + T
dv 2 “*
e = ¥ -
Y= Tn+ I N ;;(lsd
é_‘i . ﬂ x dr
dt T 4 Jdt

]

de | 12
dt Y
d_r = 2
dt Tr2
S= 4r
3—S~ = e
J_S_ = oS , dr
o o r o
_d?s = g.‘ikx i

! Xr¥
ds = 24
t =
wln r - g
ds 2y
e
dS - 2
Jt 3 em/sec

QUL&"\'O; A G :
a (5 + 21)!2-
—rw-‘" - )zCL (5)k(21)!2-t

| T, = |?_CL—| (S)k.;'(Qljsz—(t-')
loeff: A

Page € of |

—rz.-n . lzCu_ 5“ 2:2—:..
T],_ - '2Cy_ 5\(.—4 2\3—k
- %
Y sk 27 |
ikt (2-k)! ‘
oL 5 2!3-!4 4
(-0t (13“\L)‘. ‘
! I 1 Y N
T . 1L S{zﬂtxfbﬁ)-g:‘
+ 0 gm0 54
= 13-k x 5
2
= 'ég'- Sl(_
2k
foc grux{'t_a-!' czc-FF.'a'u:{- _.{__,,;.._._ >
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" Solutions for exams and assessment tasks - o .
Academic Year Mr 12 . = | Calendar Year 200% ;-
Course Exb i | Name of task/exam - | Triad -
.. ’l‘i W{LV\ 3_‘: [a] 'b: ?
42793 . 0:- -Lqtirist+!?
w= [-gdt =
y=f-9 oy
§ = _31:_,_53 + = —1Is 2V225-4 (“44)iz)
Win €20 § = 2("%3)
15 = Cs £=3-9834 ... £ Yo
Sy -9t 15 ) ’ :
X = 20'b
.‘5:}(‘3"*‘5)“' L yws 20 (3+983%..)
4= —Lqt 415t 4c, x = 79.66%....
e £20 y=1§ <2 d'edane 1S - 144671

18 =Cq
- y= ~hatiHist +18

‘0 greatest height i< when

" Solutions for exams and assessment tagks - .. . Verl
Academic Year M2 Calendar Year 200% ; -
Course Exl, i, ” | Name of task/exam - | “Triadt

6s-5k o, w0 Graatat coeflicwndt 1
2l . 12 2 _a
. CS 2 5 = 24275 vocop |
b5 -Sk >2k )
Tl > -45 b
k < &5 4 a
_i' . L2 +An9= —
ke < q% 18m v =25mig.
... '4,: q . ol x
. Grootunt GefFicinst 1S
: q 2 . Inuq'n'a‘”y . «
20 5727 = 2437500000 Cos & = X
q 4 ‘ f 2
’a ::j id
’ e : X =25m56
_02 - : (51‘ 21)l2 kS .
Sin &= Y
! ‘L 12- le 25
Tew = '*Cy (2x)" (5) B Y =25sie
0 - b - . we  lenow ""ORQ = i
Tu. = lch—' <2L)L 1 5 12-Ck ,)
. 5
Coe 2 : 3
TR
Tew | CL 205 \ease = L
T, ‘ZCL—L 2:'1--' 5'3-‘L Sim © = % s
= 1m = T =285 %% y =25« 3
. 12— k+1 , 2 . e a5 3 “s
. }{ 5 =920 =15
=(z-2 - .
Sl xX=0
X = d%
for - .. .
- .Srud-u.:-é t.ee@:'wu_n{_ Tt-u ST X= e,
Te 20 = C,
R - ‘1 =20 .
ce2 (13..),_')
—.5_1_,_ S )szlth
24 S X 2ottt
-2
k Sk wlen x =0 -0
26 > 7: - C,=0
ke <33 x=20h Page 9 of I}
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y=o
(’ = —3‘{’,-’-'5

3 L {Zcos 24 — S 2 = Reos(2t+ )

V3 cos 24 — Sin2b= Reos2b os oL~ R 524 sin

Y2 Rtost O
I=KS:'.\e( @

O=~—9q,8+¢ +1S

9.3t =15
. AS

q-8
{.5306....

n

W £ = 1-S3....
Y= 7

W2 -

=~ (a-8)(153..) +lS(a-s-3..)‘+re

=29.4795q...,

"o greatest Kdght is 29.4¢ m.

f
4= R (05« 45{.24) 0%+ e

R:2 K>O
- = -
tam o = = OR30]
. I
=7z

S ABeos 2~ S 2t = 2 cos (2t F %)

OR :
Rus = 2eos(2t+ )

2 [ o5 2t cos Z— sin 2t s.}é]
2 [-@s 2-&((_-_23__) —_ sin2t (é)]

= @CO.S 2_-& - S:’l\l{

= L¥s

n

Pﬁgq_ iO of 1}
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" Solutions for exams and asséssment tagks - .. . Verd
Academic Year Mr 12 Calendar Year 2o0% ;-
Couzse Bel I, | Name of task/exam- | * Tr'al
= — T
L x =i+ {3cs2t—si. 2t b ove T"j:_, [CGimx+d s3x ) rd o] Wy

L+ 2cos(2t+1’/_63

._.| ,—2@5(2-(:4—7'/;)
¥ = —4 s (21:+"'/;)
= —8'ws (2t + )

s —a[ 2@t g)] |

x =—4EX—Ij

L
f

-
4

¥

we

- SHMm.
W Cembre ds ot Xz
amph"!‘ualﬁ. e 2
Pul'oJ is T sec,
S Sr—— =3

.‘& - P I+2ms(?t*%)
wlesn =0 ' .
—1 = 2w (26"-%)

—é—;' (439 (2t"1%>

2-(:4—% =

_ ~TF -
. -'trfe [[(sax+ £si30) * 25 S (s xattns

+ L

.2
25 Sia S)CJ alx

7/' " -
= ,2 P . { .2
=% f; (s:..\ x+3 s.«x's...ax.-l-? Sin 3y

2 . . . .
+ 3 SinX Sin 5% t 2. SA DY Sim 3y
IS

+ L 2
iz Sin 5L>JL
. - -
Sinee f S mxginX de =0

irl

4
. v T 2 :
Ve - .2

S', (s«« X t0+ den®ax+ 040e

L

s Sl‘nz Ex ) J&

St . T2
£ Sin Mld—)g:%

S

Ve ):I,'f ‘ —};(l;)+ ;LS "Iz)J

-‘172“ i S N
[: 2_ te B0
= 25942 " 3
— v
45D ™
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